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ouztfas s tdus F0od
100,000 4 & »23] 800
302 OI==H a2 &= 30,000 60,000 /30,000
02 2t S HES2a=3 30,000 60,000 230,000
O3t oH==2! TIoHXI &=
5,000,000 6 30,000
307 elzto| & 30,000 40,000 10,000
06 2= 30,000 40,000 10,000
ORI EE It (AIHIFIHE) 30,000
HME Al SHEIN(EX) 166,550 77,400 89,150
= 10,000
= 47,965
Al 108,585
201 Let=23 | 20,000 0 20,000
= 10,000
< 4,000
Al 6,000
01 At2t2lt] 20,000 0 20,000
OQMFHAASE tM W= 20,000
= 10,000
< 4,000
Al 6,000
307 glztol & 146,550 77,400 69,150
= 43,965
Al 102,585
06 2= 146,550 77,400 69,150
Okgotags Iy 146,550
= 43,965
Al 102,585
A2l 46,486 39,306 7,180
201 et 3| 10,402 9,402 1,000
01 At22t2l] 3,752 3,752 0
OAIRA 23| 25,0002~ 12 300
ORQUBHIAIAY OlE=
121,000& ~ 12 1,452
Ooul=l 10,0002 %100 1,000
OXNELME NESSY|
500,000& 12 500
OXEYME Mol &=H|
500,000& %12 500
2 s5=34l 4,650 2,650 2,000
OXtEg M Xt = 4,650
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Al 11,640
02 S3=gHl 16,630 0 16,630
ORUREH 4| 88 A& 16,630
s 4,990
Al 11,640
SCHIHOH Ol 107,660 163,615 55,955
SCHIHOH ot 107,660 163,615 55,955
201 er23 | 103,100 168,755 55,655
01 At2t2ltl 103,100 188,755 A\B5,655
OzclZ2=A IS 210,000& »50H 10,500
Ocrtd 2| A 1,200,000& 122 14,400
Oo=d2e|AE 1,300,000 «12& 15,600
OXHSH=E 10,000,000& »23] 20,000
OfIgddEit 20,000,000& *13] 20,000
OZHe & 222 2 M 2,000
Ot 2A |2 600
OSUMHHMZ = 2,000
OSU Mol 2=tHES 18,000,000 * 13! 18,000
202 04l 4,560 4,860 A300
01 2LHoIH 4,560 4,860 A300
OSUHMaHMY AIBE ot EH 01|
40,0002 %224+ 1228 3,360
ORRIZST HIIDS OfH]
30,0002 40 1,200
Mo & THer o e 12,971,260 11,324,075 1,647,185
= 2,500
[ 4,750,000
= 1,937,000
Al 2,741,760
H 3,540,000
QIR HTAIH =Y 416,094 133,392 282,702
= 2,500
< 10,000
Al 403,594
=SS =d 35,000 5,168 29,832
= 2,500
=S 10,000
Al 22,500
201 et 3| 35,000 5,168 29,832
= 2,500
= 10,000
Al 22,500
03 A= I 35,000 5,168 29,832
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2A:

S Mol & T ol
el AT AIE E2 S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 63,000
401 AIEHIX 20 90,000 85,000 5,000
=S 27,000
Al 63,000
01 Al 90,000 85,000 5,000
O+BIE U 42 FUAFFHARA(10
IHA) 90,000
< 27,000
Al 63,000
STolE28 12,000 9,000 3,000
307 elztol & 12,000 9,000 3,000
06 28= 12,000 9,000 3,000
O3=d 28= 12,000
HoH AH HCHEIA 2 506,313 360,139 146,174
oA o & S2X13 247,413 320,969 AT3,556
101 21AH| 4,500 4,500 0
04 JIZtN2Z2XNSE+ 4,500 4,500 0
OXST ZAIR 2= 4,500
201 Ler23 | 174,188 191,944 A17,756
01 At22t2lt] 114,280 114,120 160
Ol 222 MA(0EE, HaE M
CHal) 1,000
o=t 1,000
OXIIBENLS(NSSESEAILE ZF)
=Al&el 9| 21,000
o8y, Jlda= IV 222l SHH| 22,000
ON2Atd2E FA2c S5 18,000
Ooul=l 1,280
oXgs 50,0008 x22(+8% 800
o0& 5t 30,0002 x22|+x8& 480
oL, J&H, SHOIX FA&el 84
Bl 21,000
OssAe SS57 | 8Xtg S 10,000
O=gUHl 0% |X2= 20,000
2 S22l 59,908 77,824 A17,916
OMHIE Adds| Seles
49,500 +6LH* 123 3,564
ON2A& e H)Ies
350, 0002 «2CH* 12& 8,400
ON2E B SHRL=
150,000 2CH* 122 3,600
OXNSSHSEANAY SRS
8,000 13904 2=+ 123 13,344
OUEEAIE RXl2el 1,000




2A:

E M

X=]

AlGIOHS

=

Kol & THEE Ol

I~

D MoHIHETHBIAIE 2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMoiZ At &E 12,000
400,000 12& 4,800
OXIIEEANAE SRS
1,100,000& x12& 13,200
206 MH=HI 7,800 8,700 A900
01 MHZH| 7,800 8,700 2900
OMct2te| At + 7,800
oE==d0HH 6,5002 *1,20004 7,800
302 OIF=H Mol 2&= 27,325 107,325 80,000
02 QI SRS S2a= 27,325 107,325 /80,000
OXfoioe & S2E0 2201 2 atd| 7,325
o] 8,0003*438 10! 3,440
odHIFFHI 1,7502 %15 £ x148A[ 2t 3,885
OXS M AF=AIE LISHAH KRS 20,000
401 AIEHIX 20 22,000 22,000
01 AlZ2H| 22,000 22,000
OMHHEZAAE O™ EXISAH 22,000
405 KHaHE SH 11,600 8,500 3,100
01 Tt ESF=HI 11,600 8,500 3,100
O 7 (SHS i) 11,600
oAE =5 X 200,0002*58H 11,600
M Seaiats 29 204,320 4,320 200,000
201 er2 3| 4,320 4,320 0
01 AtR2t2|HI 4,080 4,080 0
OXHoliCHEl Blat22 X S41H| 2,880
ontsadad 29 1,200
02 35244l 240 240 0
Oltserataae fRugss
10,0003 =20H 123 240
401 AIZHIZ S0 200,000 200,000
01 Al&H| 200,000 200,000
O 2= SAb 200,000
KHoH XH 01l &2 54,580 34,850 19,730
201 ger=3| 38,580 34,850 3,730
01 AtR2tc|HI 38,580 34,610 3,970
Os7MLt HE= 500
OgMAldE 25 ZaE JHl
100,000 #2004 2~ 2,000
Ol S /Ig84 HAH HHl gX=
500,000 x2CH*43] 4,000
O3 &Y 80.2:&*400,000m" 32,080
401 A2 HIZL R 0HbI 16,000 0 16,000
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Kol & THEE Ol
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cel THSHAH ORI Al 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 16,000 0 16,000
O&Iah AN X+ UM 0=
ZX 244 16,000
Mo ?e - FAXN S EH| 11,583,000 10,483,000 1,100,000
[ 4,750,000
= 1,900,000
Al 1,393,000
H 3,540,000
Mol I E X2 HEI(2X) 4,700,000 6,520,000 1,820,000
= 1,900,000
= 760,000
Al 480,000
H 1,560,000
401 AIZHIZ R0 4,700,000 6,520,000 1,820,000
= 1,900,000
[ 760,000
Al 480,000
H 1,560,000
01 AlZ2H| 4,700,000 6,520,000 1,820,000
ONE THOHRAIZE ML X7 ZHIALY 1,200,000
[ 600,000
= 240,000
Al 360,000
OHZ MHolRAZE ML X ZHIALS 400,000
[ 200,000
= 80,000
Al 120,000
OO &H THOH RN XI= ZHIAFS 2,200,000
[ 1,100,000
= 440,000
H 660,000
OO0f &t THAHPIEIHA X HHIALE ('23. AlH]) 900,000
H 900,000
SEAMX FHIAI(EX) 6,120,000 2,758,000 3,362,000
= 2,850,000
S 1,140,000
Al 150,000
H 1,980,000
401 Al HIZL S 0HHI 6,120,000 2,758,000 3,362,000
[ 2,850,000
= 1,140,000
Al 150,000
H 1,980,000




SA: Al

3 XH@LH‘_Q—J Kt Ol
ool TSI - 3SR F | (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 6,120,000 2,758,000 3,362,000
OJI&HXI 7 SEAHK SHIAI 500,000
= 250,000
< 100,000
Al 150,000
OEFAF SB A FHIAY 5,200,000
= 2,600,000
< 1,040,000
H 1,560,000
OSFAXT STAK ZHIANI('23. AlHI) 420,000
H 420,000
SEAMA & AnE2SSAIE HNEH 9 43,000 0 43,000
401 AIEHIZL SO 43,000 43,000
01 Al&HI 43,000 43,000
OSZAMA &Y EA(8601A) 43,000
AR2SSAIE FHIAL(EX) 720,000 720,000
401 AIZHIZL R0 720,000 720,000
01 Al&H| 720,000 720,000
OZgn AR2IS3AIE FHIAIE('23.AlH]) 420,000
OatilE 2Wg AAZEAIE ZHIM
&('23.Altl) 300,000
L ey feages 1,205,192 1,032,669 172,523
= 17,848
< 31,338
Al 1,156,006
IRt 2l 1,205,192 1,032,669 172,523
= 17,848
== 31,338
Al 1,156,006
201 &0l lgslol 2 &Y 1,950 7,450 75,500
201 2Bt 1,950 450 1,500
NEEI 1,950 450 1,500
SHEL =2
5,0002 40«13 200
ougod tHulsd S22 M
50,0002 *300H 2 1,500
Oolg?us 82 s+=% M
50,000 +50H 250
=2 O 2o ¢ E2HEHI(EX) 1,900 1,900 0
= 570
s 39
Al 931
201 et 3| 1,900 1,900 0
= 570
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SA Ao
=L BT
el R0 2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Otld8AlE S+
500, 0002 %30 4 1,500
OBIATITIAIL SX24
500,000 *4H A 2,000
OtldasAlE 28 A=kl
3,000,000 * 104 2 3,000
401 Al HIZL 2018 20,000 20,000
01 Al&H| 20,000 20,000
OALAIY BB EALE & 2HEH| O
HEX 20,000,000 * 100 2 20,000
LA USEHLANLHHSE 25,000 18,000 7,000
201 fer= 3| 25,000 18,000 7,000
01 AtR2tc|HI 25,000 18,000 7,000
olgflussd NS 3,000
Oug A0IH W= 2| 15,000
OPIYDIN DRAA SASE
150,000 * 20008 *2A12t 6,000
O8I AESL USHA =5 1,000
QR NSESHUANLEHIEE(EX) 9,120 9,120 0
== 2,736
Al 6,384
201 2= 9,120 9,120 0
== 2,736
Al 6,384
01 At2t2lt] 9,120 9,120 0
O UT AIIHA =€ 7,500
= 2,250
Al 5,250
O&Jlus w=sIIMHMH 7 1,620
=S 486
Al 1,134
ANZELQE 22l (ASI M AZ0F o1 AH]) 979,213 877,251 101,962
201 =3 2,000 2,100 A100
01 At2t2lt] 2,000 2,100 A100
OAMRERed HAUS 350,000%22] 700
OA =223 2ddiHA J188 7Y
20,0002 x65& 1,300
301 LEN= 968,573 866,511 102,062
0 MSRREEYS 968,573 866,511 102,062
OAtz|=223 2124| 947,076
o= 1,000,000& x65E «12& 780,000
0SAMHI 7,000 x66E 212 * 122 114,660
oulEH| 3,200 65212 * 12 52,416
OAlgI=223 UI=H| 330,720 +65% 21,497
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SA Ao
=L BT
el R0 2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,000
401 AIEHIX 20 40,000 40,000 0
= 12,000
= 12,000
Al 16,000
01 Al&H| 40,000 40,000 0
OB EAIE RAE(10HA) 40,000
= 12,000
& 12,000
Al 16,000
Qe HHOIAIE HIASE E5(EX) 3,118 3,118 0
= 936
Al 2,182
201 er2 3| 3,118 3,118 0
=S 936
Al 2,182
01 AtR2tc|Hl 3,118 3,118 0
Ous LIAL HaES &5 3,118
& 936
Al 2,182
THEOHN 2SS AlE 2= 40,000 0 40,000
= 12,000
Al 28,000
401 AIEHIX SO 40,000 0 40,000
= 12,000
Al 28,000
01 A28l 40,000 0 40,000
Oglgtel ZE2AIE F=(1HL) 40,000
== 12,000
Al 28,000
Hees(AlIRIerM Dt 1,760,000 1,620,000 140,000
WA XIE 1,760,000 1,620,000 140,000
WEHHKIZE 1,760,000 1,620,000 140,000
RJ1sdES 1,760,000 1,620,000 140,000
01 JIsdEsS 1,760,000 1,620,000 140,000
OMtt2edl= 1,760,000
HY2AIHI(AIQIA D) 125,880 123,040 2,840
el 2| 95,042 91,65 3,387
SUHoll el=d=2&| 95,042 91,65 3,387
101 @124H| 95,042 91,65 3,387
02 JIEtME = 95,042 91,655 3,387
OLHHOtA - SAZCIAH AIZEE BRI I1AI
S2& 21| 95,042
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